

### Orthogonality

**DEFINITION 1** Two vectors  $\mathbf{u}$  and  $\mathbf{v}$  in an inner product space  $V$  called *orthogonal* if  $\langle \mathbf{u}, \mathbf{v} \rangle = 0$ .

▶ **EXAMPLE 2 Orthogonality Depends on the Inner Product**

The vectors  $\mathbf{u} = (1, 1)$  and  $\mathbf{v} = (1, -1)$  are orthogonal with respect to the Euclidean inner product on  $\mathbb{R}^2$  since

$$\mathbf{u} \cdot \mathbf{v} = (1)(1) + (1)(-1) = 0$$

However, they are not orthogonal with respect to the weighted Euclidean inner product  $\langle \mathbf{u}, \mathbf{v} \rangle = 3u_1v_1 + 2u_2v_2$  since

$$\langle \mathbf{u}, \mathbf{v} \rangle = 3(1)(1) + 2(1)(-1) = 1 \neq 0$$

▶ **EXAMPLE 3 Orthogonal Vectors in  $M_{22}$**

If  $M_{22}$  has the inner product of Example 6 in the preceding section, then the matrices

$$U = \begin{bmatrix} 1 & 0 \\ 1 & 1 \end{bmatrix} \quad \text{and} \quad V = \begin{bmatrix} 0 & 2 \\ 0 & 0 \end{bmatrix}$$

are orthogonal since

$$\langle U, V \rangle = 1(0) + 0(2) + 1(0) + 1(0) = 0$$

**THEOREM 6.2.3** Generalized Theorem of Pythagoras

If  $\mathbf{u}$  and  $\mathbf{v}$  are orthogonal vectors in a real inner product space, then

$$\|\mathbf{u} + \mathbf{v}\|^2 = \|\mathbf{u}\|^2 + \|\mathbf{v}\|^2$$

**Proof** The orthogonality of  $\mathbf{u}$  and  $\mathbf{v}$  implies that  $\langle \mathbf{u}, \mathbf{v} \rangle = 0$ , so

$$\begin{aligned}\|\mathbf{u} + \mathbf{v}\|^2 &= \langle \mathbf{u} + \mathbf{v}, \mathbf{u} + \mathbf{v} \rangle = \|\mathbf{u}\|^2 + 2\langle \mathbf{u}, \mathbf{v} \rangle + \|\mathbf{v}\|^2 \\ &= \|\mathbf{u}\|^2 + \|\mathbf{v}\|^2 \quad \blacktriangleleft\end{aligned}$$

*Orthogonal and  
Orthonormal Sets*

Recall from Section 6.2 that two vectors in an inner product space are said to be *orthogonal* if their inner product is zero. The following definition extends the notion of orthogonality to *sets* of vectors in an inner product space.

**DEFINITION 1** A set of two or more vectors in a real inner product space is said to be *orthogonal* if all pairs of distinct vectors in the set are orthogonal. An orthogonal set in which each vector has norm 1 is said to be *orthonormal*.

► **EXAMPLE 1** An Orthogonal Set in  $\mathbb{R}^3$

Let

$$\mathbf{v}_1 = (0, 1, 0), \quad \mathbf{v}_2 = (1, 0, 1), \quad \mathbf{v}_3 = (1, 0, -1)$$

and assume that  $\mathbb{R}^3$  has the Euclidean inner product. It follows that the set of vectors  $S = \{\mathbf{v}_1, \mathbf{v}_2, \mathbf{v}_3\}$  is orthogonal since  $\langle \mathbf{v}_1, \mathbf{v}_2 \rangle = \langle \mathbf{v}_1, \mathbf{v}_3 \rangle = \langle \mathbf{v}_2, \mathbf{v}_3 \rangle = 0$ . ◀

It frequently happens that one has found a set of orthogonal vectors in an inner product space but what is actually needed is a set of *orthonormal* vectors. A simple way to convert an orthogonal set of nonzero vectors into an orthonormal set is to multiply each vector  $\mathbf{v}$  in the orthogonal set by the reciprocal of its length to create a vector of norm 1 (called a *unit vector*). To see why this works, suppose that  $\mathbf{v}$  is a nonzero vector in an inner product space, and let

$$\mathbf{u} = \frac{1}{\|\mathbf{v}\|} \mathbf{v} \quad (1)$$

Then it follows from Theorem 6.1.1(b) with  $k = \|\mathbf{v}\|$  that

$$\|\mathbf{u}\| = \left\| \frac{1}{\|\mathbf{v}\|} \mathbf{v} \right\| = \left| \frac{1}{\|\mathbf{v}\|} \right| \|\mathbf{v}\| = \frac{1}{\|\mathbf{v}\|} \|\mathbf{v}\| = 1$$

This process of multiplying a vector  $\mathbf{v}$  by the reciprocal of its length is called *normalizing*  $\mathbf{v}$ . We leave it as an exercise to show that normalizing the vectors in an orthogonal set of nonzero vectors preserves the orthogonality of the vectors and produces an orthonormal set.

### ► EXAMPLE 2 Constructing an Orthonormal Set

The Euclidean norms of the vectors in Example 1 are

$$\|\mathbf{v}_1\| = 1, \quad \|\mathbf{v}_2\| = \sqrt{2}, \quad \|\mathbf{v}_3\| = \sqrt{2}$$

Consequently, normalizing  $\mathbf{u}_1$ ,  $\mathbf{u}_2$ , and  $\mathbf{u}_3$  yields

$$\mathbf{u}_1 = \frac{\mathbf{v}_1}{\|\mathbf{v}_1\|} = (0, 1, 0), \quad \mathbf{u}_2 = \frac{\mathbf{v}_2}{\|\mathbf{v}_2\|} = \left( \frac{1}{\sqrt{2}}, 0, \frac{1}{\sqrt{2}} \right),$$

$$\mathbf{u}_3 = \frac{\mathbf{v}_3}{\|\mathbf{v}_3\|} = \left( \frac{1}{\sqrt{2}}, 0, -\frac{1}{\sqrt{2}} \right)$$

We leave it for you to verify that the set  $S = \{\mathbf{u}_1, \mathbf{u}_2, \mathbf{u}_3\}$  is orthonormal by showing that

$$\langle \mathbf{u}_1, \mathbf{u}_2 \rangle = \langle \mathbf{u}_1, \mathbf{u}_3 \rangle = \langle \mathbf{u}_2, \mathbf{u}_3 \rangle = 0 \quad \text{and} \quad \|\mathbf{u}_1\| = \|\mathbf{u}_2\| = \|\mathbf{u}_3\| = 1 \quad \blacktriangleleft$$

**THEOREM 6.3.1** *If  $S = \{v_1, v_2, \dots, v_n\}$  is an orthogonal set of nonzero vectors in an inner product space, then  $S$  is linearly independent.*

Since an orthonormal set is orthogonal, and since its vectors are nonzero (norm 1), it follows from Theorem 6.3.1 that every *orthonormal* set is linearly independent.

In an inner product space, a basis consisting of orthonormal vectors is called an *orthonormal basis*, and a basis consisting of orthogonal vectors is called an *orthogonal basis*. A familiar example of an orthonormal basis is the standard basis for  $R^n$  with the Euclidean inner product:

$$e_1 = (1, 0, 0, \dots, 0), \quad e_2 = (0, 1, 0, \dots, 0), \dots, \quad e_n = (0, 0, 0, \dots, 1)$$

**▶ EXAMPLE 4 An Orthonormal Basis**

In Example 2 we showed that the vectors

$$\mathbf{u}_1 = (0, 1, 0), \quad \mathbf{u}_2 = \left( \frac{1}{\sqrt{2}}, 0, \frac{1}{\sqrt{2}} \right), \quad \text{and} \quad \mathbf{u}_3 = \left( \frac{1}{\sqrt{2}}, 0, -\frac{1}{\sqrt{2}} \right)$$

form an orthonormal set with respect to the Euclidean inner product on  $R^3$ . By Theorem 6.3.1, these vectors form a linearly independent set, and since  $R^3$  is three-dimensional, it follows from Theorem 4.5.4 that  $S = \{\mathbf{u}_1, \mathbf{u}_2, \mathbf{u}_3\}$  is an orthonormal basis for  $R^3$ . ◀

**THEOREM 6.3.2**

(a) If  $S = \{\mathbf{v}_1, \mathbf{v}_2, \dots, \mathbf{v}_n\}$  is an orthogonal basis for an inner product space  $V$ , and if  $\mathbf{u}$  is any vector in  $V$ , then

$$\mathbf{u} = \frac{\langle \mathbf{u}, \mathbf{v}_1 \rangle}{\|\mathbf{v}_1\|^2} \mathbf{v}_1 + \frac{\langle \mathbf{u}, \mathbf{v}_2 \rangle}{\|\mathbf{v}_2\|^2} \mathbf{v}_2 + \dots + \frac{\langle \mathbf{u}, \mathbf{v}_n \rangle}{\|\mathbf{v}_n\|^2} \mathbf{v}_n \quad (3)$$

(b) If  $S = \{\mathbf{v}_1, \mathbf{v}_2, \dots, \mathbf{v}_n\}$  is an orthonormal basis for an inner product space  $V$ , and if  $\mathbf{u}$  is any vector in  $V$ , then

$$\mathbf{u} = \langle \mathbf{u}, \mathbf{v}_1 \rangle \mathbf{v}_1 + \langle \mathbf{u}, \mathbf{v}_2 \rangle \mathbf{v}_2 + \dots + \langle \mathbf{u}, \mathbf{v}_n \rangle \mathbf{v}_n \quad (4)$$

Using the terminology and notation from Definition 2 of Section 4.4, it follows from Theorem 6.3.2 that the coordinate vector of a vector  $\mathbf{u}$  in  $V$  relative to an orthogonal basis  $S = \{\mathbf{v}_1, \mathbf{v}_2, \dots, \mathbf{v}_n\}$  is

$$(\mathbf{u})_S = \left( \frac{\langle \mathbf{u}, \mathbf{v}_1 \rangle}{\|\mathbf{v}_1\|^2}, \frac{\langle \mathbf{u}, \mathbf{v}_2 \rangle}{\|\mathbf{v}_2\|^2}, \dots, \frac{\langle \mathbf{u}, \mathbf{v}_n \rangle}{\|\mathbf{v}_n\|^2} \right) \quad (6)$$

and relative to an orthonormal basis  $S = \{\mathbf{v}_1, \mathbf{v}_2, \dots, \mathbf{v}_n\}$  is

$$(\mathbf{u})_S = (\langle \mathbf{u}, \mathbf{v}_1 \rangle, \langle \mathbf{u}, \mathbf{v}_2 \rangle, \dots, \langle \mathbf{u}, \mathbf{v}_n \rangle) \quad (7)$$

**▶ EXAMPLE 5 A Coordinate Vector Relative to an Orthonormal Basis**

Let

$$\mathbf{v}_1 = (0, 1, 0), \quad \mathbf{v}_2 = \left(-\frac{4}{5}, 0, \frac{3}{5}\right), \quad \mathbf{v}_3 = \left(\frac{3}{5}, 0, \frac{4}{5}\right)$$

It is easy to check that  $S = \{\mathbf{v}_1, \mathbf{v}_2, \mathbf{v}_3\}$  is an orthonormal basis for  $R^3$  with the Euclidean inner product. Express the vector  $\mathbf{u} = (1, 1, 1)$  as a linear combination of the vectors in  $S$ , and find the coordinate vector  $(\mathbf{u})_S$ .

**Solution** We leave it for you to verify that

$$\langle \mathbf{u}, \mathbf{v}_1 \rangle = 1, \quad \langle \mathbf{u}, \mathbf{v}_2 \rangle = -\frac{1}{5}, \quad \text{and} \quad \langle \mathbf{u}, \mathbf{v}_3 \rangle = \frac{7}{5}$$

Therefore, by Theorem 6.3.2 we have

$$\mathbf{u} = \mathbf{v}_1 - \frac{1}{5}\mathbf{v}_2 + \frac{7}{5}\mathbf{v}_3$$

that is,

$$(1, 1, 1) = (0, 1, 0) - \frac{1}{5}\left(-\frac{4}{5}, 0, \frac{3}{5}\right) + \frac{7}{5}\left(\frac{3}{5}, 0, \frac{4}{5}\right)$$

Thus, the coordinate vector of  $\mathbf{u}$  relative to  $S$  is

$$(\mathbf{u})_S = (\langle \mathbf{u}, \mathbf{v}_1 \rangle, \langle \mathbf{u}, \mathbf{v}_2 \rangle, \langle \mathbf{u}, \mathbf{v}_3 \rangle) = \left(1, -\frac{1}{5}, \frac{7}{5}\right)$$



► **EXAMPLE 6 An Orthonormal Basis from an Orthogonal Basis**

(a) Show that the vectors

$$\mathbf{w}_1 = (0, 2, 0), \quad \mathbf{w}_2 = (3, 0, 3), \quad \mathbf{w}_3 = (-4, 0, 4)$$

form an orthogonal basis for  $R^3$  with the Euclidean inner product, and use that basis to find an orthonormal basis by normalizing each vector.

(b) Express the vector  $\mathbf{u} = (1, 2, 4)$  as a linear combination of the orthonormal basis vectors obtained in part (a).

**Solution (a)** The given vectors form an orthogonal set since

$$\langle \mathbf{w}_1, \mathbf{w}_2 \rangle = 0, \quad \langle \mathbf{w}_1, \mathbf{w}_3 \rangle = 0, \quad \langle \mathbf{w}_2, \mathbf{w}_3 \rangle = 0$$

It follows from Theorem 6.3.1 that these vectors are linearly independent and hence form a basis for  $R^3$  by Theorem 4.5.4. We leave it for you to calculate the norms of  $\mathbf{w}_1$ ,  $\mathbf{w}_2$ , and  $\mathbf{w}_3$  and then obtain the orthonormal basis

$$\begin{aligned} \mathbf{v}_1 &= \frac{\mathbf{w}_1}{\|\mathbf{w}_1\|} = (0, 1, 0), & \mathbf{v}_2 &= \frac{\mathbf{w}_2}{\|\mathbf{w}_2\|} = \left( \frac{1}{\sqrt{2}}, 0, \frac{1}{\sqrt{2}} \right), \\ \mathbf{v}_3 &= \frac{\mathbf{w}_3}{\|\mathbf{w}_3\|} = \left( -\frac{1}{\sqrt{2}}, 0, \frac{1}{\sqrt{2}} \right) \end{aligned}$$

**Solution (b)** It follows from Formula (4) that

$$\mathbf{u} = \langle \mathbf{u}, \mathbf{v}_1 \rangle \mathbf{v}_1 + \langle \mathbf{u}, \mathbf{v}_2 \rangle \mathbf{v}_2 + \langle \mathbf{u}, \mathbf{v}_3 \rangle \mathbf{v}_3$$

We leave it for you to confirm that

$$\langle \mathbf{u}, \mathbf{v}_1 \rangle = (1, 2, 4) \cdot (0, 1, 0) = 2$$

$$\langle \mathbf{u}, \mathbf{v}_2 \rangle = (1, 2, 4) \cdot \left( \frac{1}{\sqrt{2}}, 0, \frac{1}{\sqrt{2}} \right) = \frac{5}{\sqrt{2}}$$

$$\langle \mathbf{u}, \mathbf{v}_3 \rangle = (1, 2, 4) \cdot \left( -\frac{1}{\sqrt{2}}, 0, \frac{1}{\sqrt{2}} \right) = \frac{3}{\sqrt{2}}$$

and hence that

$$(1, 2, 4) = 2(0, 1, 0) + \frac{5}{\sqrt{2}} \left( \frac{1}{\sqrt{2}}, 0, \frac{1}{\sqrt{2}} \right) + \frac{3}{\sqrt{2}} \left( -\frac{1}{\sqrt{2}}, 0, \frac{1}{\sqrt{2}} \right) \quad \blacktriangleleft$$

**THEOREM 6.3.5** Every nonzero finite-dimensional inner product space has an orthonormal basis.

### The Gram–Schmidt Process

The step-by-step construction of an orthogonal (or orthonormal) basis :

#### The Gram–Schmidt Process

To convert a basis  $\{\mathbf{u}_1, \mathbf{u}_2, \dots, \mathbf{u}_r\}$  into an orthogonal basis  $\{\mathbf{v}_1, \mathbf{v}_2, \dots, \mathbf{v}_r\}$ , perform the following computations:

*Step 1.*  $\mathbf{v}_1 = \mathbf{u}_1$

*Step 2.*  $\mathbf{v}_2 = \mathbf{u}_2 - \frac{\langle \mathbf{u}_2, \mathbf{v}_1 \rangle}{\|\mathbf{v}_1\|^2} \mathbf{v}_1$

*Step 3.*  $\mathbf{v}_3 = \mathbf{u}_3 - \frac{\langle \mathbf{u}_3, \mathbf{v}_1 \rangle}{\|\mathbf{v}_1\|^2} \mathbf{v}_1 - \frac{\langle \mathbf{u}_3, \mathbf{v}_2 \rangle}{\|\mathbf{v}_2\|^2} \mathbf{v}_2$

*Step 4.*  $\mathbf{v}_4 = \mathbf{u}_4 - \frac{\langle \mathbf{u}_4, \mathbf{v}_1 \rangle}{\|\mathbf{v}_1\|^2} \mathbf{v}_1 - \frac{\langle \mathbf{u}_4, \mathbf{v}_2 \rangle}{\|\mathbf{v}_2\|^2} \mathbf{v}_2 - \frac{\langle \mathbf{u}_4, \mathbf{v}_3 \rangle}{\|\mathbf{v}_3\|^2} \mathbf{v}_3$

$\vdots$

(continue for  $r$  steps)

*Optional Step.* To convert the orthogonal basis into an orthonormal basis  $\{\mathbf{q}_1, \mathbf{q}_2, \dots, \mathbf{q}_r\}$ , normalize the orthogonal basis vectors.

► **EXAMPLE 8 Using the Gram–Schmidt Process**

Assume that the vector space  $R^3$  has the Euclidean inner product. Apply the Gram–Schmidt process to transform the basis vectors

$$\mathbf{u}_1 = (1, 1, 1), \quad \mathbf{u}_2 = (0, 1, 1), \quad \mathbf{u}_3 = (0, 0, 1)$$

into an orthogonal basis  $\{\mathbf{v}_1, \mathbf{v}_2, \mathbf{v}_3\}$ , and then normalize the orthogonal basis vectors to obtain an orthonormal basis  $\{\mathbf{q}_1, \mathbf{q}_2, \mathbf{q}_3\}$ .

*Solution*

*Step 1.*  $\mathbf{v}_1 = \mathbf{u}_1 = (1, 1, 1)$

$$\begin{aligned} \text{Step 2. } \mathbf{v}_2 &= \mathbf{u}_2 - \text{proj}_{W_1} \mathbf{u}_2 = \mathbf{u}_2 - \frac{\langle \mathbf{u}_2, \mathbf{v}_1 \rangle}{\|\mathbf{v}_1\|^2} \mathbf{v}_1 \\ &= (0, 1, 1) - \frac{2}{3}(1, 1, 1) = \left(-\frac{2}{3}, \frac{1}{3}, \frac{1}{3}\right) \end{aligned}$$

$$\begin{aligned} \text{Step 3. } \mathbf{v}_3 &= \mathbf{u}_3 - \text{proj}_{W_2} \mathbf{u}_3 = \mathbf{u}_3 - \frac{\langle \mathbf{u}_3, \mathbf{v}_1 \rangle}{\|\mathbf{v}_1\|^2} \mathbf{v}_1 - \frac{\langle \mathbf{u}_3, \mathbf{v}_2 \rangle}{\|\mathbf{v}_2\|^2} \mathbf{v}_2 \\ &= (0, 0, 1) - \frac{1}{3}(1, 1, 1) - \frac{1/3}{2/3} \left(-\frac{2}{3}, \frac{1}{3}, \frac{1}{3}\right) \\ &= \left(0, -\frac{1}{2}, \frac{1}{2}\right) \end{aligned}$$

Thus,

$$\mathbf{v}_1 = (1, 1, 1), \quad \mathbf{v}_2 = \left(-\frac{2}{3}, \frac{1}{3}, \frac{1}{3}\right), \quad \mathbf{v}_3 = \left(0, -\frac{1}{2}, \frac{1}{2}\right)$$

form an orthogonal basis for  $R^3$ . The norms of these vectors are

$$\|\mathbf{v}_1\| = \sqrt{3}, \quad \|\mathbf{v}_2\| = \frac{\sqrt{6}}{3}, \quad \|\mathbf{v}_3\| = \frac{1}{\sqrt{2}}$$

so an orthonormal basis for  $R^3$  is

$$\begin{aligned} \mathbf{q}_1 &= \frac{\mathbf{v}_1}{\|\mathbf{v}_1\|} = \left(\frac{1}{\sqrt{3}}, \frac{1}{\sqrt{3}}, \frac{1}{\sqrt{3}}\right), \quad \mathbf{q}_2 = \frac{\mathbf{v}_2}{\|\mathbf{v}_2\|} = \left(-\frac{2}{\sqrt{6}}, \frac{1}{\sqrt{6}}, \frac{1}{\sqrt{6}}\right), \\ \mathbf{q}_3 &= \frac{\mathbf{v}_3}{\|\mathbf{v}_3\|} = \left(0, -\frac{1}{\sqrt{2}}, \frac{1}{\sqrt{2}}\right) \quad \blacktriangleleft \end{aligned}$$

## Extra exercises:

- 1 Prove that  $\langle (a, b), (x, y) \rangle = ax + ay + bx + 2by$  is an inner product in  $\mathbb{R}^2$ .
- 2 Use Gram-Schmidt algorithm to construct an orthonormal basis of  $\mathbb{R}^2$  from the basis  $\{u_1 = (1, -1), u_2 = (1, 2)\}$ .

## Solutions:

- 1 •  $\langle (a, b) + (c, d), (x, y) \rangle = (a + c)x + (a + c)y + (b + d)x + 2(b + d)y = \langle (a, b), (x, y) \rangle + \langle (c, d), (x, y) \rangle$ 
  - $\langle (a, b), (x, y) \rangle = ax + ay + bx + 2by = \langle (x, y), (a, b) \rangle$ 
    - $\langle \lambda(a, b), (x, y) \rangle = \lambda ax + \lambda ay + \lambda bx + 2\lambda by = \lambda \langle (a, b), (x, y) \rangle$
  - $\langle (a, b), (a, b) \rangle = a^2 + 2ab + 2b^2 = (a + b)^2 + b^2 \geq 0$
  - $\langle (a, b), (a, b) \rangle = 0 \iff a + b = 0 = b \iff a = b = 0$

Thus,  $\langle \quad , \quad \rangle$  is an inner product on  $\mathbb{R}^2$ .

- 2 By using Gram-Schmidt algorithm,

$\{v_1 = (1, -1), v_2 = (1, 0)\}$  is an orthonormal basis.

## Extra exercises:

Let  $S = \{u_1, u_2, u_3, u_4\}$  is a basis of the space  $M_2(\mathbb{R})$  such that

$$u_1 = \begin{pmatrix} 1 & -1 \\ 0 & 1 \end{pmatrix}, u_2 = \begin{pmatrix} 1 & 0 \\ 1 & 1 \end{pmatrix}, u_3 = \begin{pmatrix} 1 & 0 \\ 0 & 2 \end{pmatrix}, u_4 = \begin{pmatrix} 0 & 1 \\ 1 & 1 \end{pmatrix}$$

We use the Gram-Schmidt algorithm to construct an orthonormal basis from the basis  $S$ .

$$v_1 = \frac{1}{\sqrt{3}} \begin{pmatrix} 1 & -1 \\ 0 & 1 \end{pmatrix}.$$

$$\langle u_2, v_1 \rangle = \frac{2}{\sqrt{3}},$$

$$u_2 - \langle u_2, v_1 \rangle v_1 = \frac{1}{3} \begin{pmatrix} 1 & 2 \\ 3 & 1 \end{pmatrix}.$$

$$v_2 = \frac{1}{\sqrt{15}} \begin{pmatrix} 1 & 2 \\ 3 & 1 \end{pmatrix}.$$

$$\langle u_3, v_1 \rangle = \sqrt{3}, \langle u_3, v_2 \rangle = \frac{3}{\sqrt{15}}$$

$$u_3 - \langle u_3, v_1 \rangle v_1 - \langle u_3, v_2 \rangle v_2 = \frac{1}{5} \begin{pmatrix} -1 & 3 \\ -3 & 4 \end{pmatrix}.$$

$$v_3 = \frac{1}{\sqrt{35}} \begin{pmatrix} -1 & 3 \\ -3 & 4 \end{pmatrix}.$$

$$\langle u_4, v_1 \rangle = 0, \langle u_4, v_2 \rangle = \frac{6}{\sqrt{15}}, \langle u_4, v_3 \rangle = \frac{4}{\sqrt{35}}$$

$$u_4 - \langle u_4, v_1 \rangle v_1 - \langle u_4, v_2 \rangle v_2 - \langle u_4, v_3 \rangle v_3 = \frac{1}{35} \begin{pmatrix} -10 & -39 \\ -29 & -29 \end{pmatrix}.$$

$$v_4 = \frac{1}{\sqrt{7}} \begin{pmatrix} 2 & 1 \\ -1 & -1 \end{pmatrix}.$$